FUKAYAR AR MiHESE  &EH:201948F1H (K)

1/2

AT3dy)— 75 & B FR IRATMAR Fifitg | oS
rL—F—&i& SmartTurbo KAGURA DD LSD9200 ¥100,000]  ¥108,000( P.05
L—F—&i& SmartTurbo KAGURA TD LST9200 ¥82,500 ¥86,000] P.06
rL—F—&i& Smart Turbo KAGURA TD Bfi1=vk ¥70,000 ¥60,000| P.07

rL—F—FTar |S/95 /N—kL—btEoHY— ant+ ¥6,204 ¥6,700| P.08
f—F—FTLar |[EITT4—FUb ¥1,944 ¥2200| P.08
f—F—FTFar |fL—F—< k4 ¥3,241 ¥3,500] P.08
fL—F—FT 3  |BEiR/AAVEEYE(2EA) ¥1,648 ¥1,800f P.08
f—F—FTFar |[R—LL—F—34Y ALAY— ¥3,900 ¥4,000 P.08
RILE— TPH—1 2JLYkPCHILE— ¥3,639 ¥4,000{ P.08
rL—F—&Ki& LiveRide LR961 ¥39,815 ¥42,000| P.09
rL—F—&i& LiveRide LR541 ¥35,185 ¥37,000] P.09
FL—F—Z&4K LR541 SWIL—LHEE JT5vY ¥21,296 ¥22,500( P.09
rL—F—&i& MAGRIDE—Q ¥20,370 ¥21,000] P.10
rL—F—&i& LiveRide LR341 ¥25,000 ¥26,500] P.10
FL—F—KIE RDA2429—R YLFS47 JEaVH ¥31,481 ¥32,800| P.10
rL—F—2tk LiveRide LR240 /NMEEA —F— JEIAVH ¥29,722 ¥31,000] P.10
b—F—7T a3y [RTSA4H— 3 ¥1111 ¥1,200] P.10
b—F—2Tay [RTSA4¥— G ¥1,306 ¥1,480] P.10
fo—F—FT ar |BERZAVIL)—X ¥509 ¥800)] P.10
fo—F—FTar |BHIL—LIVERIAVIEYE UT ¥3.426 ¥3,600] P.10
A—F—AT a3y [12mmUFRIL—FHIRILVTEZTEI—(RPEYF=1.5) ¥1,130 ¥1,300] P.10
f—F—AT a3y [12mmUFRIL—=—FHIRILVTETEI—(FPEYF=1.0) ¥1,130 ¥1,300] P.10
f—F—ATF a3y [12mmYFRIV—=—FHIRIVTFETEI—(*PEYF=1. 75) ¥1,130 ¥1,300] P.10
f—F—FTF>a> [12mmYFRIV—TFHRLVTETE— T—/1—(P=1.0) ¥1,130 ¥1,300] P.10

rL—F—&i& LiveRide FG—542 HYBRID ROLLER ¥51,000 ¥53,000{ P.11

rL—F—&ik LiveRide FG—220 HYBRID ROLLER ¥37,037 ¥38,600( P.12
FL—F—AT3v |[FG542 15/°110mmT—AMEREAIA—I<9k ¥2,759 ¥3,100] P.12
FL—F—#T3v |[FG220 15/°110mm T—RMN\IT T4—4Z 1T ¥1,880 ¥2.100] P.12

FL—F—&IK AbsorbRoll R820A iRERINIAO—F— ¥100,000f ¥100,000| P.13

rL—F—&ik LiveRoll R800 =AO—5— ¥67,130 ¥69,000| P.14

rL—F—&ik LiveRoll R720 ¥39,500 ¥40,800| P.14
FL—F—FT>ar |R7208 7HLavIiyyd ¥8,520 ¥9200| P.14
L—F—#T23r [R720F &fFra=—vhb ¥3,389 ¥3,750| P.14
f—F—%T a3y |BVTRSAFL—J)L R700/R720H ¥3,056 ¥3,300] P.14

rL—F—KE MOZ ROLLER 3A&O0—5— ¥32,593 ¥33,500( P.15
f—F—AT av | 7oiarIYyyy ¥8,278 ¥9,000f P.15
FL—F—AT 3> |MOZ ROLLERABRILI=Vk ¥6,019 ¥6,900| P.15

BRHEE INMHBJT—20D T JL/N— ¥19,000 ¥19,800( P.18

BrH® INMHBJ—25D A—ILTS5vY ¥19,000 ¥19,800( P.18

B E P—500AL—6S < J)L/\— BHiIXBETRMHEH ¥24,074 ¥25,000{ P.19

BRHEE P—500AL—7S J5vy BMABTRMHEE ¥24,074 ¥25,000{ P.19

BRHEE P—600AL—6S ~ZO—+tvyhy A4 Xk ¥23,611 ¥24500] P.20

BRHEAT 3y |1\ 455 —K)L20. 1 ¥4,398 ¥4.800| P.20
BRHEAT Iy 1N 499 L—K)L20. 2 ¥4,630 ¥5,000( P.20
BRHZEAT 3 |59 —K)L25. 1 B ¥3,287 ¥3,600| P.20
BRHBEAT 3 |59 —K)L25. 2 B ¥3,287 ¥3,600| P.20
BREA T a3y [RA—ILTEAYFAURS ¥3,009 ¥3,400| P.21
BERHBA T ay  |NRTYRTFRYF A2 ¥5,000 ¥5500] P.21
EBRHBA T3y [HMA—1 IYOKATFURTRYFAUE ¥2 907 ¥3,400| P.21

@A T ar RA—ILTRZYFARE142 /148 BT A YF A b ¥2 491 ¥2,800| P.21
BRABAT 3y |—F—FRILF— (BEFErL—F—H) ¥1,759 ¥2,000] P.22




FUKAYAR AR MiHESE  &EH:201948F1H (K)

2/2

HTI)— 725 i 44 Fh IRATMAR Pfits | h2os
BRHBA T a3y [FL—F—FRILFA—(BAXO—5—H) ¥1,759 ¥2,000{ P.22
BRHBA T ay |THRRSNAUH—F VR4 ¥4,139 ¥4,600( P.22
BRHBA T3y |1\ M99L—FJL BC—V1 ¥2.435 ¥2,700| P.22

BRE DS—2200 J35v% ¥13,800 ¥14,200| P.23

BRiEs DS—2100 759> ¥13,241 ¥13,300 P.23

BRiEs DS—1000 J35v% ¥7,800 ¥8,200 P.23

BRiEs DS—1000 HKI7Ak ¥7,800 ¥8,200 P.23

BRiEs LEVEL—100 RAUK ¥16,300 ¥17,000] P.24

BRiEs LEVEL—100 T3/ k¥vk ¥9,000 ¥9500] P.24

BRiEs Lusso—mM STHMNFREUE ¥17,050 ¥17,800] P.24

BRi s S+W—mM KEZXZVE ¥15,540 ¥16,200] P.24

AEUR DS—70MP ¥4,000 ¥4,200 P.26
AEUR DS—80 ¥3,167 ¥3,350] P.26
AEUR DS—540CS TA4RATLAREUE ¥4 550 ¥4,780( P.27
AEUR SPN—20 975 9%ARK ¥4,134 ¥4,300( P.27

J—HRAUK RS—1800 ¥19,400 ¥20,000] P.28

J—HRAUK CR—100 Fr—rAO—5— ¥1,250 ¥1,500] P.28

J—HRBUK HMS—20TS I7R /A>T L—TvyrFES—H ¥6,852 ¥7,200( P.29

J—HRAUK RS—5000 7—HRAVK ¥24,630 ¥25,500 P.29

S VERGO—TF2 Withk)LS — ¥14,815 ¥15,200 P.32

S VERGO—TF1 orz—d 1&8H ¥7,500 ¥7,900| P.32

S VERGO—TF3 “iy—d 3&H ¥17,593 ¥18,500| P.32
BHBA T a3y |WTPIVEHER—F3 <VERGO—TF> ¥3,759 ¥4,300| P.34
BEBZA T3 [TARRNO—Y 94yHL)—X (VERGO—TFH) ¥546 ¥800| P.34
BHEHBA T3y  |VERGO TFA 157110 J—RMN\TRIA—9% 1+ ¥787 ¥1,000] P.34
BEHBA T a3y |TFRA—ILYHR—bE12/15RIL—FIRILEIAYY ¥1,250 ¥1,400] P.34
BHHBEAT 3  [VERGO—TF /N\ARRR—H— ¥1,700 ¥1,900] P.34
BHHBEAT 3y  [VERGO—TFRAKRA—ILYER—k ¥2,259 ¥2500] P.34
BEHB/AT 3y  [VERGO—TFRTZAVYFAUEDHAH 9mm . 15mmIFEH ¥4,009 ¥4,400| P.34
BHH®EA T3  |ASB—10 7 RA/A— ¥2,509 ¥2900| P.34
H@EA T3 12mm ZAVRRIL—FHYRILFHRR—H— 100mm ¥278 ¥380[ P.34
HFA T3 12mm YFZRIL—FHRILARAR—H— 142mm ¥352 ¥450| P.34
£BATav 12mm Y7 RIL—FHRILVEARR—H— 148mm ¥380 ¥480| P.34

X7 FPR—3000 7OV =754 ¥5,648 ¥6,200] P.35

¥z MT—4000SF H AR L avIxr—YH70 w7 ¥6,306 ¥6,800 P.35

¥z RC—1200 O—K-J0R/N\AVHFYU7T ¥6,900 ¥7,000] P.35

¥z X YTZHYFZRIL—FHARIL(M12x142/P=1.0) ¥1,417 ¥1,600| P.35

¥z XY YTZHYFRIL—FHARIL(M12x142/P=1.5) ¥1,417 ¥1,600] P.35

¥z FrYTFZHYFRIL—FHARIL(M12x142/P=1.75) ¥1,417 ¥1,600] P.35

¥z Fx)FZHFRIL—FHAIL(M12x100/P=1. 0) ¥1,315 ¥1,500| P.35

¥z Fx)FZHFRIL—FHAIL(M12x100/P=1.5) ¥1,315 ¥1,500| P.35

AEUR QUS—10FK 94997y TREUR ¥1,790 ¥1,900| P.35
AEUR PHS—1 Bike Rest (/AMYLRAK) RAUEK ¥1,759 ¥1,900| P.35

RILE— DAVOS FBS—1 7OV \\yOHR—4— ¥2,730 ¥2900| P.37

RELr— DAVOS JSRNILT—2 S Jbis— ¥861 ¥1,000/ P.38

RELr—2 DAVOS J5RN)Lir—Y KRIA+ ¥861 ¥1,000/ P.38

Rer—2 DAVOS JSRNIT—D FHY ¥861 ¥1,000| P.38

RhLr— DAVOS JSRILy—= TS99 ¥861 ¥1,000| P.38

RILE— BOH—200 J5v% RILME CO2RUARILE— ¥509 ¥650| P.38

RILE— SBS—250 HKIL/N\YHREIESAH— ¥2,260 ¥2500| P.38




